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1. Reproduction is not a defining feature of the organisms 
because– 

 (A) All organisms reproduce to give rise similar young ones 
 (B) A few non-living objects can reproduce 
 (C) Some organisms can not reproduce 
 (D) No non living object is capable of reproducing 

 (A)  

 (B)  

 (C)  

 (D)  

2. Cellular level of body organisation is not seen in– 
 (A) Dinoflagellates (B) Euglenoids 
 (C) Cyanobacteria (D) Mucor 

 (A)  (B)  

 (C)  (D) 

3. Select a property which is odd w.r.t. bacteria– 
 (A) Heterotrophic forms are the most abundant 
 (B) They contain single stranded DNA 
 (C) They help in N2-fixation in legumes 
 (D) Some forms may be pathogenic 

 (A)  

 (B) DNA  

 (C) Legumes N2-   

 (D)  

4. Filtration of oils and syrups is associated with– 
 (A) Euglenoids (B) Slime moulds 
 (C) Chryosophytes (D) Red tides 

 Oils syrups 

 (A)   (B)   

 (C)   (D)    

5. Life cycles in most of the fungi, algae and spermatophytes 
are ........... respectively– 

 (A) Haplontic, Haplontic, Diplontic 
 (B) Haplodiplontic, Haplontic, Haplontic 
 (C) Haplontic, Haplontic, Haplodiplontic 
 (D) Haplodiplontic, Diplontic, Haplontic 

spermatophytes 

 (A) , ,  

 (B) , ,  

 (C) , ,  

 (D) , ,   
6. Asexual exogenous and sexual exogenous spores in fungi are– 

 (A) Conidia, Ascospores 
 (B) Sporangiospores, Basidiospores 
 (C) Sporangiospores, Ascospores 
 (D) Conidia, Basidiospores 

 (A)  (B) ,  

 (C) ,  (D) ,  

7. White rust of crucifers is caused by– 
 (A) Phytophthora  (B) Albugo   
 (C) Puccinia    (D) Alternaria 

 (A) Phytophthora (B) Albugo    (C) Puccinia  (D) Alternaria 
8. Asexual spores are generally not found in– 
 (A) Fungi with well developed sexual reproduction 
 (B) Fungi with coenocytic hyphae 
 (C) Fungi with unicellular forms 
 (D) Fungi with dikaryotic stage 

     
 (A)  

 (B)  

 (C)  

 (D)  

9. Symptoms like curling & rolling of leaves and mosaic 
formation are observed due to infection of– 
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 (A) Bacteria (B) Fungi     (C) Viruses      (D) Protozoans 

curling  rolling, mosaic 

 (A)  (B)  (C)  (D)  

10.  All observable characters of organisms are taken as the 
basis of– 

 (A) Chemotaxonomy  
 (B) Phenetics (Numerical taxonomy) 
 (C) Cladistics  (D) Karyotaxonomy 

 (A)  (B) ( ) 

 (C)  (D)  

11. Isogamous sexual reproduction with both types of non 
motile gametes, is a feature of– 

 (A) Ulothrix   (B) Spirogyra  
 (C) Fucus   (D) Volvox 

 (A)  (B)  (C)  (D)  

12.  Kelps are not characterised by the presence of– 
 (A) Algin   (B) Fucoxanthin 
 (C) Frond   (D) 2-8 unequal flagella 

 Kelps 

 (A)   (B)   

 (C) Frond ( )  (D) 2-8  

13.  Consider the following statements. 
 a. Sphagnum is known for it’s economic importance 
 b. Mosses prevent soil erosion 
 c. Gemmae help in asexual reproduction in liverworts 
 d. Protonema develops from a spore usually 
 How many of these are correct– 
 (A) One  (B) Two  (C) Three  (D) Four 

 (A)   (B)   

 (C) Frond ( )  (D) 2-8 

  

 (A) (B)   (C)   (D)  

14. Prothallus of ferns is mostly– 
 (A) Free living, Small, Photosynthetic 
 (B) Symbiotic, Small, Parasitic 
 (C) Free living, Large, Photosynthetic 
 (D) Having archaegonia, antheridia and adventitions roots 

 Fern Prothallus  

 (A)  

 (B)  

 (C)  

 (D) Archaegonia, antheridia  

15. Characteristic of Equisetum includes all of the following, 
except– 

 (A) Homospory (B) Many leaves per node 
 (C) Presence of integumented megasporangia 

 (D) Presence of strobili 

Equisetum  

 (A)  (B)  

 (C)  

 (D) Strobili  

16. Thick cuticle and sunken stomata are found in– 
 (A) Water ferns (B) Mosses 
 (C) All gymnosperms (D) Conifers 

 (A) (B) Mosses  

 (C)  (D) Conifers  

17.  Archaegonia is appropriately called as– 
 (A) Female gametophyte (B) Megasporangium 
 (C) Female gametangium (D) Megaspore 

 Archaegonia  

 (A)  (B)  

 (C)  (D)  

18. Swollen leaf base is called _______ and is found in ____ 
 (A) Stipule, Legumes (B)  Pulvinus, Legumes 
 (C) Stipule, Mango (D) Pulvinus, Crucifers 

____ _

 (A)  (B)  

 (C)  (D)  

19. Select a mis-matched pair– 
 (A) Foliar tendrils – Pea (B) Spines – Oputina 
 (C) Cymose inflorescence – terminal flower 
 (D) Zygomorphic flowers – Canna 

 (A) –     (B) (Spines) –  

 (C)   – (D) –   

20.  Plants of guava and cucumber show– 
 (A) Bisexual flowers (B) Epigynous flowers 
 (C) Superior ovary (D) Parthenocarpy 

 Guava  cucumber  

 (A)  (B)  

 (C)  (D)  

21.  Cassia is characterized by the presence of all features, 
except– 

 (A) Zygomorphic flowers (B) Basal placentation 
 (C) Imbricate aestivation of petals 
 (D) Both (A) & (C) 

Cassia  

 (A)  (B)  

 (C)  

 (D) (A)  (C)  

22. Stony endocarp and edible endosperm are observed in– 
 (A) Mango   (B) Pomegranate 
 (C) Wood apple (D) Coconut 

Stony endocarp
 (A)  (B)  (C)  (D)  

23.  Indigofera, Sesbania, Belladona, Chilli, Aloe and Gloriosa 
belong to– 



ALL INDIA BIOLOGY OXYOPIA (AIBO) -2015 

AIBO-2015 SECOND ROUND (Inter School Round)                                 Page: 11/B-3 
 

 (A) Two families (B) Three families 
 (C) Four families (D) Five families 

 Indigofera, Sesbania, Belladona, Chilli, Aloe  Gloriosa 

 

 (A)    (B)   

 (C)   (D)   

24.  Monocarpellary gynoecium is a characteristic feature of– 
 (A) Lily (B) Mustard (C) Pea (D) Brinjal 

 (A)    (B)    (C)    (D)   

25. In most of the monocots, phloem parenchyma is– 
 (A) Well developed (B) Less developed 
 (C) Absent   (D) Anucleate 

 (A)  (B)  (C) (D)  

26.  Pith is well developed in– 
 (A) Dicot roots and monocot stems 
 (B) Monocot roots and dicot stems 
 (C) Monocot roots and monocot stems 
 (D) Dicot roots and dicot stems 

 (A)  

 (B)  

 (C)  

 (D)  

27. Starch sheath is the name given to ------------ of dicot stems– 
 (A) Endodermis   (B) Hypodermis  
 (C) Pericycle  (D) Cortex 

------------  

 (A)    (B)   (C)  (D)  
28.  Interfascicular cambium of dicot stems, originate from ____ due to  

 (A) Hypodermis, Dedifferentiation 
 (B) Cortex, Dedifferentiation 
 (C) Medullary rays, Dedifferentiation 
 (D) Pericycle, Dedifferentiation 

___ ____ 

 

 (A) ,  (B) ,  

 (C) ,  (D) , 

29. The wood formed during spring season is– 
 (A) Late wood (B) Of high density 
 (C) Having broad vessels (D) Darker 

 (A) (Late wood)  (B)  

 (C)  (D)  

30. Generally neutral solutes move across plasma membrane– 
 (A) From their lower to higher concentration 
 (B) From their higher to lower concentration 
 (C) Against concentration gradient 
 (D) Showing uphill movement 

 (A) 

 (B)  

 (C)  

 (D) Uphill  

31. Which of the following organism is found in only polyp form 
and medusa form is absent – 

 (A) Adamsia   (B) Gorgonia 
 (C) Obelia   (D) Both (A) and (B) 

polyp medusa 

 (A) Adamsia  (B) Gorgonia 

 (C) Obelia  (D) (A) (B)  

32. From the given list of animal. How many organism 
exclusively found in marine water only – 

 (a) Echinus  (b) Hippocampus 
 (c) Euspongia  (d) Balanoglossus 
 (e) Spongilla  (f)  Pleurobrachia 
 (A) 5  (B) 3  (C) 6  (D) 2 

 (a) Echinus   (b)Hippocampus 
 (c) Euspongia (d) Balanoglossus 
 (e) Spongilla  (f) Pleurobrachia 
 (A) 5   (B) 3 (C) 6   (D) 2 
33. Advantage of bilateral symmetry is that it allows the 

evolution of– 
 (A) Organ system level of organisation 
 (B) Parasitism (C) Cephalisation 
 (D) Sexual reproduction 

advantage  

 (A)  

 (B)  (C)  (D)  

34. Internal fertilisation, direct development and oviparity is the 
character of– 

 (A) Locusta, Testudo, Alligator 
 (B) Limulus, Pavo, Ornithorhyncus 
 (C) Neophron, Bufo, Pterophyllum  
 (D) Trygon, Columba, Hemidactylus 

 (A) Locusta, Testudo, Alligator 
 (B) Limulus, Pavo, Ornithorhyncus 
 (C) Neophron, Bufo, Pterophyllum 
 (D) Trygon, Columba, Hemidactylus 
35. Which of the following is heteropolymer– 
 (A) Glycogen  (B) Cellulose 
 (C) Starch   (D)Protein 

 (A)  (B)  (C)   (D)  

36. All are the correct features for animal which have hook & 
suckers in parasitic form except– 

 (A) Absence of alimentary canal 
 (B) Organ level of organisation 
 (C) Three germinal layers during development 
 (D) Pseudocoelomate 
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 hook & suckers 

 

 (A)  (B)  

 (C)  

 (D)  

37.  Internal fertilisation is found in – 
 (A) Ctenophora (B) Hemichordata 
 (C) Echinodermata (D) Aschelminthes 

 (A)    (B)   

 (C)   (D)    

38. Bones have a P and Q  ground substance rich in R and  S 
fiber which give bone its strength. 

 Identify P, Q, R, S & complete the sentence– 
 (A) Soft, pliable, Ca, elastin 
 (B) Hard, pliable. Mg, collagen 
 (C) Hard, nonpliable, Ca, collagen 
 (D) Soft, nonpliable, Ca, collagen 

     P           Q      

     R             S      

 

 P, Q, R, S 

 (A) Ca,  

 (B) Mg,  

 (C) Ca,  

 (D) Ca,   

39. Which of the following types of muscles are found in blood 
vessels, stomach and intestine– 

 (A) Skeletal muscle (B) Unstriated muscle 
 (C) Voluntary muscle (D) Smooth & striated 

 (A)  (B)  

 (C)  (D) 

40. From which part of Cocos nucifera, coir is obtained   
(A) Endocarp (B) Mesocarp  (C) Epicarp  (D) Any part of fruit 

 (A)  (B)  

 (C)   (D)  

41. The main function of sieve tubes is  
(A) Food conduction (B) Protein transfer 
(C) Enzyme transfer  (D) Transcription 

 (A)  (B)  

 (C)  (D)  

42. Quiescent centre is found on :-  
(A) Root tip (B) Shoot tip  (C) Floral tip (D) Leaf tip 

 (A)  (B)  (C)  (D) 

 

43. Branch of Botany which deals with the internal organisation 
of plant is known as :-  
(A) Physiology (B) Ecology     (C) Cytology (D) Anatomy 

 (A)  (B)  (C)  (D)  

44. Cells of paranchymatous tissues are characterized by :-  
(A) Presence of uniform thickening  
(B) Presence of thickening at the corner 
(C) Presence of lignified walls 
(D) Presence of intercellular spaces 

 (A)   

 (B)  

 (C)  

 (D)  

45. Wood is the common name of :-  
(A) Phloem   (B) Vascular bundles 
(C) Cambium  (D) Secondary xylem 

 (A)  (B)  (C) (D)  

46. Aerenchyma is found in :-   
(A) Hydrophytes (B) Lithophytes 
(C) Sciophytes (D) Xerophytes 

 (A)  (B)  (C)  (D)  

47. The best possible method to detemine the age of a tree is :- 
(A) To find out the number of branches   
(B) To measure its diameter  
(C) To count the number of annual rings 
(D) To count the number of leaves 

 (A)   

 (B)  

 (C)  

 (D)  

48. Lateral meristem is responsible for which of the following :- 
(A) Growth in length (B) Growth in thickness 
(C) Growth in parenchyma (D) Growth in cortex 

 (A)  (B)  

 (C)  (D)  

49. From where the commercial jute fibres are obtained  
(A) Interxylary fibers (B) xylem fibers 
(C) Phloem fibers (D) None of the above 

 (A)  (B)  

(C)  (D)  

50. Which of the meristem is responsible for secondary growth  
(A) Apical  (B) Lateral (C) Intercalary (D) Basal 

 (A)  (B)  (C)  (D)  


